N YER{chftaT - ERBHESRE

No K 4 FrjE [EENo| HifSiNo [HilkNo I
LRSS KA [FIR 1 2 1 AR A B
2|1 ETF  KEE [FIR 2 2 1 il
Ui HZ [FIR 3 3 1 il m (V&7 i 4875 5D
Al@Fs B [E 4 4 il
SlHF &= [AFE 5 4 il L83 H
6] 3% B & 6 5 1 il 1 X 2 k m (FESRIKH AEAD
7| Ek | EFE 7 6 1 il 1 A RAHT 1 (B A BRI
7 8 KRAHT 2 (B A i)
S fRAL [&FF 9 7 1 HiiE A NHK fij 22
B 10 NHK i 52 7%
R (&3 11 B 1 HiiE A NHK 78 [ A8 75 5
9 12 NHK 78 52 75 45
o[l Y | &3 13 9 1 il A A P Y ARLTD
@l FA |[&F 14 9 1 HiiE A TTARFLEE /N
11 15 PRI AN
12/NEE pak [fFE 16 10 1 HIAG A2 RS ¥~ 2 AR
13[fEE FHA | &3 17 10 1 AR A Y~ & BRI
13 18 RILA
13 19 FRILA
LB & [ 1 11 2 iR [1X5kn (PEMERM |
14 2 HEHT{E =
14 3 ANUKRHETE (B2 — Y ALy
14 4 THA L
15[ FA i [ 5 12 2 e IRy A B X R (P8R i 3
15 6 /NJUKHET (JAF, BMWATT A 72 £7)
15 7 /N J\KHT e
15 8 HEIPNFEST:Y
16]mitl 5z [l 9 13 2 1 M 7 RN A2 A2 5 (5 =)
N 10 14 2 e Iy A B T/ ST (B 19 5%)
17 11 T/ BT R LR
17 12 MR (EAN" = —)
18R RERE [WE)Il 13 15 2 15 IR 7 1 X7 b 3 km (IR ELERRT)
18 14 INZEAGNIESD)
IEIE S 15 16 2 5 Iy 7 B
19 16 1775185 /3 Ik A I 1)
20/ Wk (BRI 17 17 2 e IR A B 1 X7 & 1 km(EAEH])
21|EA fig @ 18 18 2 T IR 2 B i A A2 7 5
21 19 i A A2 7 45
21 20 19 LAk (B &R
PR BN T 21 20 2 AT 22 72 A
22 22 FH AT A8 7 5
23 A (BRI 23 21 2 2 [X 1km
24 AT FsE [t 24 FH AT b AR 7
26| mtE B |6 25 22 2 AT 3AZ 7 i (A7 b))
262 % | 26 23 2 RIRTL X
PAEE IR 27 23 2 T
28I 2 )] 28 23 2 ENY
28 29 RIRTL X
28 30 BESRAN
29[78 )11 Wi [tk 31 24 2 e IRy A B 2 X 2km(ZERIRA — R T)
29 32 SRR A8
29 33 A LAEVE (HYERD
29 34 Ay A (07" /4V7" )
30 =k 5L |wtEoK 35 25 o I 7 % FREEHT () 9V N 7 4h)
30 36 *Er%ﬁu
30 37 I (8 J5) HUE &
SI[HT e [AEoK 38 26 2
2| Fh wZ |m 39 26 2 2 X 5 kn(7 — 7 — 48 Wi f13lT)
33| A R |l 40 27 2 2 X7 I 3km(fv/t 7 EIRA O 74)
33 41 VE ST (G A=Y~ 25
33 42 BONE — Y o 7
33 43 EIFICEEERK
A|ER E G 44 28 2 o Iy 7 % LI
34 45 B2 BT A8 7
35|HME  FRA [milky 46 29 2 e IRy A B 2 X7 b 1 km (GS AT £ 0T
35 47 B (IR KR 76 &)
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K 4 B | b= No| HBENo | HiJkNo A E iS4
35 48 2N T AR 75 i
35 49 30 2Pk T GBI )
35 50 BRI AR 7
36| H B 51 31 3 HIAG 2 HH 2 % L FLIT 48 7 5
STIARE T & 52 32 3 Bl R 2 P A
37 53 BTG e LC A 1 48 72 4
381 BN [ 54 33 3 HiAG 2 HH 2 % 3 E 2km("3‘ v k=L 7R
9w FHER |E 55 34 3 I A A
40[FFfp,  F— [%Z2H 56 34 3 HIiAG 2 FH A %
41ERE  F#/E |[&H 57 34 3 R 2 FH A
41 58
41 59
42 E |22 60 35 3 BTG 2 H A
43| R E di A [SAERT 61 36 3 B £ H A
43 62
43 63
43 64 B
44|fERS R [REIS RSP 65 37 4 BRI A B
44 66 HEDRR)
455 H SRS [RES R 67 38 4 IR A B BﬂjﬂﬂiTrtt#P&iEnu)
45 68
45 69
46[74F A Bk |BEB K 70 39 4 SR A B 3 X7 k1 km(r“ﬁg &)
46 71 40 553 T ik T (O Sl i e )
46 72 T T AR 72 i
47|FJR gafE |REIS RF 73 41 4  SIRT A B RPN T
47 74 PN
48[k BE |[REE KRS 75 42 4 (SRR A B 41X 1 km(b"ﬁ:é sj:ﬁxwuasw)
491390 tHE [Er 76 43 4 (FrERIRT A B W S X R A2 AL
50161 [Fm 77 44 4 (BRI A B O A FIAE M
512 M PR 78 45 4 (SRR A B BAZEN DI
b2/ g BB [T 79 46 4 IR A B 4 [X 2 km % 2 KA T HitH 1)
52 80 PRISMEAE S
53%A  Muyn [EiH 81 47 4 SR A B FEAIT2T H 5875 i
54|z B W 82 48 4 BRI A B AV (B IR 11T 28 72 5
55411 T 83 49 4 BRI A B ﬁ*%‘%%fi?ﬁ&%ﬁ
55 84 SRR 5 £ AR 7
56/ ik [HrH 85 50 4 BRI A B
56 86 it TP A2 7
57[dbil S [HrH 87 51 4 (SRR A B v e T
58| & # [T 88 52 4 [t B IS 7 1% NP
59|k AR F SRk 89 53 4 IR A N B T
59 90 ERE 5l UNE]
EE T 91 54 4 5 ) B BR P s 51
61V/INMES BB 92 55 4 5 5) B R P s 51
61 93 BEER a8
62| KN H- B 94 56 4 [ ERIRT AE BE BT AN
62 95 W7 (R354)
63|= % B 96 57 4 IR A BEBROA 1 (RESRRAT)
63 97 AREH T 28 75 R
63 98 LT 28 75 i
63 99 FE A AT A8 72 A
63 100 ST A7
63 101 R (PR PR )
63 102 2R (P HERL PR 2 AR

63 103 e ACHIIEET )
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No K 4 E_ b =No| Hi/SNo | HiJikNo A E [Hh 54
64| MK B |[KH 104 58 5 NER tH: B A8 76 A
654 B [KH 105 59 5 X H A
65 106 R E - HEOBE D7
66[FF ¥ [KH 107 60 5
67|32  Bhwl | KH 108 61 5 T (\TEEET)
68[fEA  E— | KH 109 61 5 (1T EmET)
69|75 1f) |ESP 110 61 5 1T EmET)
69 111 (U1 EmET)
70| % % |Esp 112 62 5 JB BT A L
T1|JnEE  #iw] |ESP 113 63 5 JE RS E R
71 114 JE. 5 (24 AGS HIT)
71 115 B 1 THRER
72[Jul]  3E8h |ESP 116 64 5 INER —IEFEREA N
72 117 A (vvE E Bh D)
T RIRKFE |ESP 118 65 5 INER
73 119 IR A FE
73 120 BRI O
73 121 P AT
4| EFn+  |ESP 122 66 5 NI A v 2 — AN O A2
74 123 E BT Uy b 0 YD
T5ZEMHE B [E o] 124 67 5 ERAE
76|68 H = [Evuade] 125 67 5 ERAE
TR —E [E Ve 126 67 5 EAR AR 7 R
77 127 K s %6 5B 48 7 A
77 128 K sTERILEFE
T8|hATE PR [REAK 129 68 5 INER 4 X7 b 3km (W33 A0
78 130 Felri b Tk
78 131 V5 % 5 T+ 52 8% (T-UP A HH )5 {ip)
79| %M B |fEA 132 69 5 K HER
79 133 NSRS
79 134 T AT AR FE R
80[#2)I] £ |fER 135 70 5 PNER 4 X7 b 1km (Y % Y Hi)
80 136 BRI 28 75
80 137 BRI TE (i T k)
80 138 X HH V8 A2 2 45 (i P T e )
80 139 71 B4k T OK M i A3 P
80 140 FURHT A8 72 5,
80 141 ST 528 (27" vAV7" VEiD)
SI[ZEH  fF— [fEtk 142 72 5 K HER 5 X 1 km (= A E £ 0 ED)
81 143 HEHBER X — A
81 144 HEHER X — AV
82« LK [d5457-SG| 145 73 5 AEMRT 22 7
83|71 #t [BIB7SGl 146 74 5 5X2km(A¥—710 Y =7 LI
BAIHA FE [KH 147 75 5 Y
85|HA Fi [KH 148 76 5 By = XK
85 149 e (FRIZ R
85 150 e -5
85 151 SR IR AR 7S
86| =R F[E [ K 152 77 5 N
BTR¥A FHke | KH 153 78 5 INER 18 B e A T
87 154 KM AT 5
87 155 EHE A O (IAEGSHT)
87 156 L (LT AR 7 5
87 157 L (LT -5 R
87 158 HRAS A
88| £k kb | KH 159 79 5 INER
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No KX 4 & [ ENo| HiANo [HiEENo i 4
SO ~Y [Hil4 160 80 6
QO[VEIH  paiE [HiAE 161 81 6 WA S (505 i 2R)
9llirE  BiE (M4 162 81 6 ARG (505 = 20)
91 163 A JEE (505 = 2E)
920 Kl [HilA 164 82 6 A S P o
93[EH K& (WL 165 82 6 WA 7
94l s JiFn (M 166 83 6 ClE s
94 167 K B/ B 4 2 il
94 168 K B B 0 2B il
94 169 1 7 (i R B e D)
95FES R M 170 84 6 il A B FEETFA O (VT4 IBE T R
95 171 SRt A0
95 172 I R T i
96 JLE  HhiAr (Ml 173 85 6 [ 5 X7 F 3kn(BEE 2D
96 174 BEHP6 28 5 (A EREEA 1)
9T/ BE [ 175 36 6 il A B 1 BEBP 1287 o (BE B 25 36 D)
97 176 4 2 (GAE A R
981%EEE  HEK M4 177 87 6 il 4 A 5 X7 b Lkn(F/MER
98 178 HiiE2 1 H G g %ﬁﬁu
9|FELHER [f4 179 38 6 Hil A B 1
99 180 BRIT AR 72 R
99 181 89 255 HH Ak P CHil A= 7 7% )
99 182 il A= T 4% T 79 28 76 A
99 183 il A= T A% T 75 A8 7 A
99 184 SRMT3 T H AZ = A
100[ A1 fF (A4 185 90 6 il A B 1 6 X 1 km (BAHT 28 76 s B 100m st i)
100 186 BEARHT 22 72 i B 100m
0L fks R [ 187 91 6 il A B 1 REARRT A2 7 il
102]5% S 188 92 6 il A A JRRMTLT H A8 75
102 189 JRRIT1T H A8 7%
103[deJ #Z (M4 190 93 6 il 4 A 6 X 2km (LI F£=}=ART)
10428  FE—  |Hid4: 191 94 6 il 42 A AHAERT LT H AR 2R
104 192 AHAERT LT H AR 2R
105 DURES AR [Hi A 193 95 6 A= 7B —XEAR
105 194 YN
106K HHE [HilA: 195 96 6 Hil A B 0 — RGeS
106 196 FFRIE AL BT B
107 K% ew] [HdA 197 97 6 HE D B 5 0 B 2R Fqil
108|728 fmie  [Hil A= 198 98 6 HE D B 5 0 =fAlEA N
109|201 & M4 199 98 6 K 8 R 5 0 HfihE AN
110] fEHAE 200 99 6 HE D B 5 0 B{HlE & i
IINEAINES Nl ER 201 99 6 HE Y B 5 0 FALE AT
111 202 Fffe % - fhss s m
111 203 Bl /i A8 75 A,
LI2[RK  Zeek [ 204 100 6 HE Y B
112 205
11358 B [HidAd: 206 101 6 K8 R
113 207
113 208 |§%/J‘HIJ42W
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No KX 4 & [ ENo| HiANo [HiEENo FHERE HS 4
113 209 MEE7 LRy 700
LAz H— [84% 210 102 8| (JrEMm AL AER |6 X7 b 3km(K-ONE AUTORI)
114 211 BB S5 22 5 5 (87 /AVT /i)
LIS|#RH  ¥E3C [84% 212 103 8] OB IE ALREN [6 X 1 0km(DDlE7 5 q1)
LI6[#IH:  sohf |58 213 104 8| (BB TEALEARE  |HIRAS S (T4 ) AR Y i)
H7[FEH  HR |[BEETE 214 105 8 AT AR [6 X7 b 1 kn(s < BIBBERIDN )
117 215 T A LRAT 52 BE (b=7" v 83D
117 216 106 256 bk T (IR U/ 2250
117 218 IR A ARG A2 7 AR
118K R [REETF 217 107 8| {rEAE T AR 7K 1 kn GRIEG Rkl 520> D 20m5)
119[BH  BHE [BESSTF 219 108 8| GFEMBTEALRER |4 A S (b=7 4Vl
120[F% = [BEBIF 220 109 8| (rEhg e AL ER |7 XK 2 km GRIRET VAVT /Ri)
120 221 N L
120 222 — ) BT AR E
121][i0E 2K [ 223 110 1 Bl AE 7K 5kn (7 n=n Vb5 (V7 R
121 224 AR (EEGEEE - 505-E40)
121 225 A FEIT (EERGE R - 505 i)
122[1L1 2 [#Hl 226 111 1 HiiE A 7 KPR 790 =7 VR )
122 227 /J\%Baﬂﬁsci%éi U B B J5 50
12330 WUE [ 228 112 1 HiiE A 7X 1 0km(J77" 2 =} VAi)
123 229 RINR BT -5 8% (Rt 2 S B AT
123 230 TN K M7 AR 72 5 (RiTtg s k)
124[BF  J& [#HH 231 113 1 Bl B 7IX7 b 3knCRERE )
124 232 o] H BT HAS 72 i (H AR 3D
124 233 o] HET 5% (H 7R PH)
124 234 HIV DA B ERI-528R)
124 235 A2 GREAVED
125|FH  BiR [WH 236 114 1 HiiE A 7 X7 b 1 km(A2NL D)
125 237 RHT 1 (17550 5 48 75 )
1267 Bk [V 238 115 1 HiiE A 7 X 1 5 km (ARRT 2N X {527
126 126
12774 % |§itE 1 1 1 ETHI 5 0 & — s, BKETRAE(E S, B
128 =%  —BB |HilG 2 1 1 ETHI 5 0 & — s, BKET MRS, B
129K RE [AikG 3 1 1 ETHI 5 0 & — s, BKETRAE(E S, B
130[ M fE il i 4 1 1 ETRI 5 0 & — s, BEET MRS, B
131K R |mits 5 1 1 BLTRT5 0 &= — s, BEET MRS, B
132| K FLA T nitE 6 1 1 ETRI 5 0 & — Al KEFEAES ., B
133t S [RifG 7 1 1 BLTRT5 0 &= — Al KEFEAES ., B
134[Z M —B8 |mikG 8 1 1 ETHI 5 0 & — Al S, KEFEAES ., B
1352 e |mits 9 1 1 BLTRT5 0 &= Al s, KEFEAES . B
136| K& ak iR 10 1 1 BTHIS 0 & — Al KEFEAES . B
137[Roig  JBH | miikE 11 1 1 BTHIS 0 & — Al KEFEAES ., B
138V WU [RiTf 12 1 1 TR S 0= — Al KEFEAES ., B
1391l ERK |mitE 13 1 1 BTHIS 0 & — Al KEFEAES . B
L40 I IRIBRAR - | miite 14 1 1 BTHIS 0 & — Al s, KEFEAES ., B
MIRE  Heal [AikG 15 1 1 TR 0 & — Al s, KEFEAES ., B
42\ e  AHE | mikE 16 1 1 BTHIS 0 & — A, KEFEAES ., B
1430 ZE1  |miks 17 1 1 ETRI 5 0 & — A, KEFEAES . B
144Gtk i iR 18 1 1 ETHI5 0 & — Al s, KEFEAES . B
45[in iy |EiE 19 1 1 ETRI 5 0 & —ialA S, KEFEAES . B
146 R AN %A RIS 20 1 1 BTRTIS 0= — Al KEFEAES . B
147 ﬁﬁﬁz iR 21 1 1 ETRI5 0 & — Al KEFEAES . B
148[F5FT %uﬁ‘ iR 22 1 1 ETRHI 5 0 & — Al s, KEFEAES ., B
1495 2 it 23 1 1 ETRHI5 0 & — A, KEFEAES . B
150753 J& iR 24 1 1 FLTHIS 0% A S, KEE ARG S, K
161k  H—  [AifG 25 1 1 BTRT5 0 &= Al s, KEFEAEES . B
151
151
151
151
151
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_K 4 __PJg  |FENo| Hi1 N0 |HiikNo TR oS4

162|3¢ ZBF A |l 1 12 2 5 I o R T I T OVl 7 1 kmX ]
153Nk JE Lkl 2 12 2 ey AR 0 P AE N OVRIT{% 1 km[X [
1545 7 i 3 12 2 Bl T B % ORI % 1 k(X[
T L et I P 4 12 2 1 g R P el Ak e ONRiT % 1 k(X[
166|711 BUHE |k 5 12 2 ey AR 0 PR K OVRIT{% 1 km[X [
L57[FIPOR AR [l 6 12 2 il K s K R OV 1 kem X
1581 b P77 |l 7 12 2 ey AR iy PR K OVRIT{% 1 km[X [
160|7% jk EF |k 8 12 2 i P RE T e PP X% OVRT 7% 1 kX[
160[IEE AL [ 9 12 2 I AT FE I FAE I OV % 1 kX[
TUCT 3 S T 10 12 2 s AR T il T K OVRTT 9% 1 km X [
162 FETED ) ¢ |l 11 12 2 Bl T BT T AP R OV % 1 kX[
T [ N 5/ T 12 12 2 iy AR T e T K OVRTT 4% 1 km X [
M4W§§,% i 13 12 2 iy AR T IR Ak B ORI #% 1 km[X ]
165[{L fidE |wila 14 12 2 IR AR I AR K OVl £ 1 kmX I
166[/a%EAE D5 |Hik 15 12 2 i AR T IR Ak X ORI #% 1 km[X ]
167 ff 111 E’fé iy 16 12 2 iy AR T IR Ak B OVET#% 1 km[X ]
16858 B |wila 17 12 2 g K T e P X% OVRT 7% 1 km X[
169|HE A @4 ey 18 12 2 iy AR T IR Ak B ORI #% 1 km[X [
170LLA ik [l 19 12 2 ey AR 0 PR K OVFIT{% 1 km[X [
171003E Obw] el 20 12 2 iy AR T TR Pk e OVl 1 kmiX [
12| Ak |l 21 12 2 ey AR I AR K OVl 7 1 kmX I
IVEIFS S I 22 12 2 s AR T TR Pk e OVl 1 kmiX [
T T i 23 12 2 ey AR 0y PR K OVFiT{% 1 km[X [
17611 0 8 &l 24 12 2 il TP AR T el Ak K ONRiTf% 1 k(X [
176[ IR 750 |k 25 12 2 IR KT s TR R OV 1 kem X
ﬂ;ﬁm it 26 12 2 e F sl

177

177

177

178| 0 7% |Hiltf 1 21 3 NELETT BRI Ak R OV % 1 km[X ]
179[am A% [ 2 21 3 N BRI T R OVATT 7% 1 kDT
180[BI =% [Aiiif 3 21 3 N BRI K OVATT 7% 1 kDT
181|0ME  FRI|HilE 4 21 3 23 H kT BRIV B OVRiT % 1 kX[
1823 Ek X itk 5 21 3 2 AR T BRI Ak R OV % 1 km[X ]
183[BI T SERE [ 6 21 3 23 H kT BRI T K ORI 1 kDT
184]% - fhw] At 7 21 3 NELRET RIS ik K OV % 1 kX[
185 fR AF % At 8 21 3 23 H kT BRI T K OVATT 7% 1 kDT
186[1m 0 %1 |Hilff 9 21 3 2 AR T BRI Ak R OV % 1 km[X ]
187|R Ky iEFE |Hiltf 10 21 3 NELE BRIV B OVRiT % 1 kX[
18810011 #hvh [AiHH 11 21 3 2 B AR FT B FIF Tk K% OB % 1 kmlX[A]
189 E.'\W A 12 21 3 2 B AR FT B FIF 1k % OB % 1 kmlX 7]
Lo0lfAE, 3R _ [t 13 21 3 23 H kT RIS ik e OV % 1 kX[
191K Sfa  [Rifh 14 21 3 43 B PARPT Bk K OVRiT % 1 kX [H]
1927 7 [iilith 15 21 3 25 [ AT BRI AR R OV % 1 km[X ]
1930 | IR T 16 21 3 2 B AR ET B FIF 7k % OB % 1 kmlX[A]
194 AN 2k [ATHE 17 21 3 NELE IS Tk e OV % 1 kX[
195/ R%F & |Hiltf 18 21 3 NELETT BRI Ak R OV % 1 km[X ]
196|774 [EIH |Hiltf 19 21 3 N R FT B Ak K ORiT % 1 kmlX[H]
Wo7UR % Tdli6 20 21 3 NELE IS ok e OVl % 1 kX[
LO8I KT 50 [fifh 21 21 3 NELE RIS Tk e OV % 1 kX[
L99LE D] i f 22 21 3 NELETT BRI K K OV % 1 o [X[i]
200DEF 7 [k 23 21 3 25 [ AT BRI Ak R OV % 1 km[X ]
%i&m AT [Rirks 24 21 3 NEELT EFE AN OVl 1 kX TH]
201

201

201

201

201
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202[fJF @k |GG 1 30 4 [+l Ak T T BRI Tk I M OVRii#% 1 km X
203[HkS IR |GG 2 30 4 (FHERIR TPk P (DTG T R % OV e 1 kX[
204[FEH AFL ARG 3 30 1 B ik PIT DI A A% 1l [X []
205[ NI RS |GG 3 30 1 B kT DM le; A ik X [H]
206 F5/E) 1T A 500 5 30 4 B TP KT DM le; T ik X [i]
207[ R Al |GG 6 30 1 B kT DS lie; ik X [H]
208 LIy B —  |GHERIG 7 30 4 ey DAk T ﬁ’f%‘ﬂhmeFﬁ&U‘ﬁﬁ?’z 1 km[X [#]
209[E [ [P 8 30 1 [y oAk FIT O Sy K I S VA% 1 o DX [H]
210 AUz |G 9 30 4 (g P T S PR PIT B OVRIT % 1 ke P ]
2110 efh |GHERi 10 30 4 (FHERIR TPk P GBI TP AT B OVRiT#% 1 km[X [
212ER (B [FEhg 11 30 1 B kT {F+ Sy B I X OVl 1 kX[
213[ARaA BEaL (BRI 12 30 1 (FHERIR TPk P {FF BRI Tk I M OVRii#% 1 km X
214|BE 15— R 13 30 1 (B kT {F+ By oI X OVAlT A% 1 kX[
215[f8H  FER |GG 14 30 4 (FHERIR TPk P {FF BRI Tk I M OVRii#% 1 km X
216/78 0 SEh |G 15 30 4 (g R T s SR T B OVRIT £ 1 ke P ]
LT[ |GG 16 30 1 {FHERIRS TPk T {FF BRI Tk I M OVRii#% 1 km X
218[Zl A ARG 17 30 1 {FHERIR TPk T (T BRI Tk I M OVRii#% 1 km X
29[ THEE— |Gt 18 30 4 {FHERIR TPk T {FF BRI Tk I M OVRii#% 1 km X
220 VER |GHERG 19 30 4 {FHERIR TPk T GBI TP AT K OVRiT#% 1 km[X [
221[fP9R Er it |G 20 30 4 (e Ak T Ok K PIT M OVRiT#% 1 kX ]
222178 ou |GG 21 30 1 BT kT Ok K PIT M OVRiT#% 1 kX ]
223[BA 0 720 |(FEhE 22 30 4 B TP KT DR K T R OVHiT £ 1 ke X[H]
2247 WL TRFE |GG 23 30 4 (e Ak T GBI TP AT B OVRIT#% 1 km[X ]
225|804k [ |GG 24 30 1 BT kP Ok K PIT Me OVRiT#% 1 kX ]
226[%N  BHRE |GHERIG 25 30 1 {FHERIR TPk T (T BRI kI M OVRii#% 1 km ]
227\  (BZ

227

227

227

227
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2288ty fE KW 1 57 5 X HH Ak AT K PR AT By OVRij£% 1 km[Xfit]
209|%E EE | KH 2 57 5 X H Ak AT K kAT By OV £% 1 km[Xfit]
230 Bk [ KM 3 57 5 X H Ak AT K kAT By OVRij£% 1 km[Xfit]
231%JF saft | KH 4 57 5 X H Ak AT K T AEAT R ORI 7% 1 km[X[H]
232\ Wk KM 5 57 5 PNELE G0 OK Pk AT By OVRij£% 1 km[Xfit]
233| B i [ KM 6 57 5 PNELE G0 K H AT M OVRiT# 1 km[X ]
234| K s=FF [ KH 7 57 5 PNELE G0 K PR AT By OV £% 1 km[Xfit]
235|441 Bhwl | KM 8 57 5 X H Ak AT K kAT By OV £% 1 km[Xfit]
236 AT AR 9 57 5 X H Ak AT OK PR AIT By OV £% 1 km[Xfit]
237/ R BE KW 10 57 5 X H Ak AT K Rk AT By OV £% 1 km[Xfit]
238/ By BRI K H 11 57 5 X H Ak AT K kAT By OV £% 1 km[Xfit]
239/ Efi [KH 12 57 5 X HH kAT K kAT By OVRij £% 1 km[Xfit]
240[TE  HEW] KM 13 57 5 X H Ak AT K kAT By OVRij £% 1 km[Xfit]
2415 Pk ﬁ% A H 14 57 5 X H Ak AT K kAT By OVRij£% 1 km[Xfit]
242|fE e [KH 15 57 5 K HH AR T K H AEAT R ORI 1% 1 km[X[H]
243[1E [ NA N 16 57 5 X H kAT K Pk AT By OV £% 1 km[Xfit]
244 0P .ﬁﬁ# NG 17 57 5 X H Ak AT K kAT By OV £% 1 km[Xfit]
24575k e, | KH 18 57 5 X H kAT K kAT By OVRij £% 1 km[Xfit]
246|B4 %lﬂﬂ N 19 57 5 PNELE G0 K Pk AT By OV £% 1 km[Xfit]
247 | I mﬁjcﬂa 20 57 5 K T T K AT )% ORI A% 1 k[ X[H]
248°EH % NI 21 57 5 PNELE SN K H AT M OVRiT# 1 km[X ]
2494 e [ KM 22 57 5 PNELE G0 K PR AT By OV £% 1 km[Xfit]
250[MTHH st [ KH 23 57 5 X HH kAT K Pk AT By OVRij £% 1 km[Xfit]
251[#5MH Kl [ KH 24 57 5 X H Ak AT K PR AT By OV £% 1 km[Xfit]
252[F Ak Fth KM 25 57 5 X H Ak AT OK kAT By OV £% 1 km[Xfit]
252

252

252

252

252

25315 ¥ wl R M AR 1 70 6 fil A= Hh Ak T il A= AP T M ONFiT % 1 km[X[H]
264k BHE MR 2 70 6 il A= Hh Ak T il A= AP T M ONFiT % 1 km[X[H]
255|hAf 5B [MIZE 3 70 6 il A= Hh Ak T il A= AP T M ONFiT % 1 km[X[H]
256/ NE LI [MZE 4 70 6 il A= Hh Ak T il A= AP T M OV #% 1 km[X[H]
257 &)l 7% 2k 5 70 6 il A AR FT 4= K I S OVATT % 1 e DX [
P [T TES 6 70 6 il 4 ik Py il Pk BT % OVRT % 1 kX[
250K VA I 7 70 6 il 1= F 0K i ] A= K I M OVRiT % 1 kX[
260[75/K__5F I 8 70 6 il 7 TPk FT ] A= K I M OVRiT % 1 kX ]
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